=) =
s[5 . BkmiE| KT KT KL KL FiE FiE E37] E3E] &E &F -
AEE | EmiTH i T4 ho)| GEED | s | om0 | aemwp | e | e | oem) | demm) | ) | (e RE BAEE
ZE) Bl FEET4T B 0.40 11 0 0 0 0 0 0 0 11 037 FAF04946 A 18H
(5211 EHFH ER1~3TH 2.10 35 0 0 0 0 0 0 0 35 0|k FRF149%6A 180
11 EoEh FETRI4T B 0.50 8 0 0 0 0 0 0 0 8 0[i&7 B#149%6 180
521 EoFh AELEIT Hith 0.70 8 0 5 0 0 0 0 0 13 0@k BF14956 188
251 EoFh EEITH 1.30 2 0 0 0 0 0 0 0 2 0[A7 BF149%7A7H
(521 EHFH RT3 T H 1.20 4 0 0 0 0 0 0 0 4 0|k BRF1495E78 78
ZE EoFh FEET1-57 B 1.50 7 0 0 0 0 0 0 0 7 0[3&7 BF149%FE 718108
(5211 EHFH EE1TH 1.30 35 0 1 0 0 0 0 0 36 0|k FRF149%7A 108
251 EoFh EE3T B 0.60 1 0 0 0 0 0 0 0 1 0[A7 BF149%FE 718108
1 Bl i HTA3TH 1.20 15 0 10 0 0 0 0 0 25 NIESER 30495 7H 108
551 EoFh AE4TH 0.30 3 0 0 0 0 0 0 0 3 0[A7 BF149%FE 718108
1 Bl i FELRT4T B 0.50 2 0 0 0 0 0 0 0 2 o3&k 30495 7H 108
1 E»Fh FEITH 0.20 9 0 1 0 0 0 0 0 10 0[3&7 MBF149FE78108
(5211 EHFH EE1TH 1.30 6 0 0 0 0 0 0 0 6 0|k FRF149%E8 A 248
1 E»Fh FEITH 0.20 4 0 1 0 0 0 0 0 5 0[3&7 MBF149E8 B 248
(5211 EHFH EE1TH 1.90 22 0 0 0 0 0 0 0 22 0|k FRF1495E9A9H
251 EoFh EE3 T B 1.20 19 0 0 0 0 0 0 0 19 0[A7 BF149%E9 A9H
(5211 EHFH AZ1TH 0.20 2 0 0 0 0 0 0 0 2 0K FRF1495E9A9H
7)1 EoEh BHTHT4T B 0.30 2 0 0 0 0 0 0 0 2 0[i&7 BF149FE9H9H
1 Bl i FELRT4T B 0.30 2 0 0 0 0 0 0 0 2 o3&k BF04959 A 9H
1 E»Fh FEITH 0.20 20 0 2 0 0 0 0 0 22 0[3&7 04959 H 9B
1 Bl i FEATH 0.30 1 0 0 0 0 0 0 0 1 o3&k BF04959 A 9H
1 E»Fh ALy E2-3TH 5.00 78 86 0 0 0 0 0 0 78 86327 FBF150FE6 B 108
1 Bl i JLILIRT3T B 0.20 8 8 0 0 0 0 0 0 8 8|k FBF0505F6 A 108
551 EoFh R T H 4.00 104 110 16 16 0 0 0 0 120 126 A7 BF150%E8 H22H
551 Bl i BExE2TH 2.00 47 47 4 4 0 0 0 0 51 51 &K B#15058 H22H
1 E»Fh RE1TH 0.70 16 20 10 30 0 0 0 0 26 50327 BF5149H9H
(5211 EHFH ®tiTH 2.00 65 85 1 1 0 0 0 0 66 86 i@ 7K FRFI515E9A9H
1 E»Fh Bx3TH 2.30 42 62 25 37 0 0 0 0 67 99337 5149 H9H
(5211 EHFH EE1TH 0.60 39 39 10 11 0 0 0 0 49 503 7K FRFI515E9A9H
11 EoEh TR, EITH 0.70 0 0 1 1 0 0 0 0 1 1]A7 BF51E9H9H
Bl EHFH FE1TH 0.80 0 0 4 4 0 0 0 0 4 4| AK FRFI515E9A9H
ZE) EoFh FEEI5 T B 0.90 3 3 0 0 0 0 0 0 3 3[R BFI52E8 178
|ZEE)| EHFH FE1T H 0.10 2 2 0 0 0 0 0 0 2 2|AK FRF152%E8A17H
ZE) EoFh SE1TH 0.10 3 3 0 0 0 0 0 0 3 3[R BF52E8 178
(5211 EonFh FRITH EE,E4T 2.20 39 56 3 4 0 0 0 0 42 60[PIIK A#0524E8H 178
)1 EoEh AL ESTH 0.80 11 11 0 0 0 0 0 0 11 1] 7] BF52%E8 H178
Bl EHFH RITHI3T B 1.10 12 12 0 0 0 0 0 0 12 12|AK FRF1524%E8A17H
ZEI EoFh FEET1-5T B 1.30 10 16 1 4 0 0 0 0 11 20[ A7 BFI53FE 718118
ZE EoFh FE1TH 0.20 2 2 0 0 0 0 0 0 2 2|AK FRF153E7A 118
551 EoFh FRI1TH 0.20 2 2 0 0 0 0 0 0 2 2| A BFI53FE 718118
1 Bl i HTA3TH 0.80 15 15 11 14 0 0 0 0 26 293K FBF0545F3H24H
551 EoFh FEI1TH 0.10 2 2 2 2 0 0 0 0 4 AT BF154%E3H24H
EZS3 EHEh BT T H 0.10 4 4 4 3 0 0 0 0 8 7[Rk BAN545E9 A 4H
ZE) EoFh FE1T B 0.10 4 4 0 0 0 0 0 0 4 AL BF0545E9 A48
ZE) ERFh FELRT4T B 0.10 8 8 0 0 0 0 0 0 8 8|k BA0545E9 A 4H
)l Bl REM1TH Y BF154F9 A48
(5211 EHFH EthI1~3TH 2.50 66 122 51 50 0 0 0 0 17 172K RBFN5459 848
)l Bl EETH Y BF154F9 A48
1 Bl i FE1-4TH 0.10 6 6 2 2 0 0 0 0 8 8|Ak BAN545E9 A 4H
11 EoEh HE3TH 0.20 15 36 4 2 0 0 0 0 19 38| A7 BF156%E4 5208
(5211 EHFH EE1TH 0.10 5 5 0 0 0 0 0 0 5 5|AK FAF1564E4 A 208
i%u %ﬁiﬁ ;WTE Al BA056 108228
)1 PEFEMH STET1-3TH Ak #0564 10H 228
] Easmh 1T B 0.70 34 70 24 23 0 0 0 0 %8 93 53] FA156% 105 226




=) =1

s[5 ’ BKERE| KT KT KL RE FiE FiE E37] E3E] &t &F -
mRE | EmiTH BT ho)| CGEED | s | i | aemwp | e | emso | oemo | aemw) | m) | (e RE BAEE
i%u E}ﬁiﬁ ;ﬁ%ﬂﬁ A7 I3 useimﬁzza
4l PEFEMH FTHI3T B Ak #5748 A 1H
g{é E‘lﬁiﬁ ;EHTITE 0.30 14 22 2 1 0 0 0 0 16 23153 o usisﬁna
I PEFEMH KBTI T B Ak #5749 H 12H
2RI Eosmh FET1 T B 100 6 1 10 8 0 0 0 0 1 2155 15720 F 125
[5201 E 2 Fh SE1TH Ak FBFN5749 A 128
7)1 EoEh HTH1~3TH 3.90 57 112 70 13 0 0 0 0 127 225([A1) BF0574%9H 128
(5211 EHFH FEE1TH AK FRF1578E9A 128
I EoEh FEETS T B A7 FRF15749A 128
551 EoFh SA3TH 0.30 12 12 1 1 0 0 0 0 13 13[AK FBFN5749 A 128
?’v“ %ﬁiﬁ EW;TE A7) i3 u57§9ﬁ125
4l PEFEMH FEI1TH Ak #5749 H 12H
(5211 EoFh RAE~EITH 020 ! ! ! ! 0 0 0 0 2 2 A7) FAF15749A 128
[ZE) EoFh FE1-4TH 0.30 13 13 2 2 0 0 0 0 15 15[ K #0574 11 A 308
ZE) EoEh B®EAITH 0.20 3 2 1 1 0 0 0 0 4 3[R BA0574E11 5308
ZE) ERFh HTAI3TH 0.20 5 5 0 0 0 0 0 0 5 5|AK #0574 11 H30H
ZE) EoFh SAH3TH 0.20 1 1 0 0 0 0 0 0 1 1]A7 BA0574E11 5308
ZE) EHFH A, EITH 0.20 1 1 0 0 0 0 0 0 1 1{AK FBF0574F11 5308
B EoFh SE1TH 0.20 4 4 1 1 0 0 0 0 5 5| A FB#1574 118308
|ZEE)| EoFh FHEIS T B AK FAF160%E6 A30H
ZE) EnFh FEET3 T B A7) FAF0604E6 A30H
|ZEE)| EHFH FEET1TH 5.40 9 9 0 0 0 0 0 0 9 9|AK FAF160%E6 A30H
ZE) EnFh HE1TH A7) FAF0604E6 A30H
ZE) EHFH FE2T H AK FAF1604E6 A30H
i%)l %ﬁiﬁ ﬁxﬂTsTE A7) i3 D60§6F]3OE
il SEH i RET2T B AK REF1604E6 A30H
)l Bl EXAITH 540 4 ’ 0 0 0 0 0 0 4 ° A7) FAF1604E6 A30H
(5211 EHFH FE4TH AK FAF1604E6 A 30
)l Bl AZ4TH A7) FAF0604E6 A30H
1 Bl i RHE~EITH Ak FEF0604E6 A 308
)l Bl RAE~EITH 5.40 5 5 0 0 0 0 0 0 5 5(A] FAF0604E6 A30H
1 ERFh HE2TH Ak FE#0604E6 A 308
(5211 EoFh FETETAT B A7) FAF0604E6 A30H
_E | Iilf:};iﬁ §3TE Ak FEF0614E7H 238
ZE) E o Fh 4TH Al IBF06147H 238
B3l Enst BLHAITH 020 1% 1% 0 0 0 0 0 0 15 IRk R7061% 7 B 23
ZE) EnFh E+XRE3TH A7) FAFN6147H 238
[ZEE) EoFh KE1TH 0.20 5 26 0 0 0 0 0 0 5 26| 7K BF06158 A4H
ZE) EoFh SE1TH 0.30 16 36 0 0 0 0 0 0 16 36/M7 BF61E9H2H
B EHFH E+AI1TH 0.10 2 2 0 0 0 0 0 0 2 2|AK FRF1614E9A2H
ZE) EnFh HE1TH A7) FAFN624E7H25H
[ZEE) EoFh BEA2TH 0.70 12 0 0 0 0 0 0 0 12 IZER 06247 H 258
=9§ | %ﬁiﬁ jT:%4TE A7) i3 uezzmzsa
ZE] il EE1TH Ak RAFN6249825H
ZE) E 5= EXX1TH 205 " 10 0 0 0 0 0 0 " 101 HEF0624F9 A25H
1 EEhH mafT 0.13 14 14 2 2 0 0 0 0 16 16] 1) ER1249811R0
ACBELUS [EDFm BE1TH 0.03 4 4 0 0 0 0 0 0 4 ARER Ek28E7H14H
CIEEREUS [ERFh HE1TH 0.05 1 1 0 0 0 0 0 0 1 1[ZEHIRIK SH2F6H6H




	S49-R03集計

